FISHBON E§%}“ﬁ%ﬁ INSTALLATION INSTRUCTIONS

OFFROAD
™

FART Ne. FB23115

Jeep® YJ Wrangler
Rock Sliders

REQUIRED

z _tl
REQUIRED TOOLS KIT CONTAINS QTY
16mm Socket M10 Stainless Flat Washer 12
17mm Socket M10 Stainless Nylon Hex Nut 12
3/8” Socket M10 Stainless Countersunk Screw 12
Drill Rock Slider (Left & Right) lea
7/16” Drill Bit Allen Wrench 1
Pencil/Marker
Hole Punch
C-Clamp
Body Clip Tool
Jack & Block


https://www.carid.com/fishbone-offroad/

W)

FISHBON E%}}%& INSTALLATION INSTRUCTIONS

ZA*:
Jeep® YJ Wrangler
Rock Sliders
1) REMOVE YOUR OEM SIDE STEPS OR SLIDERS In the approximate location shown above, use a
Begin by removing your factory fender flare jack to lift your body away from the frame. You only
extensions with a 3/8” Socket and Body Clip need to lift a small distance to allow enough room
Remover tool. to slide the new rock slider in place.

3) INSTALL YOUR NEW ROCK SLIDERS
Slide the slotted ends of the slider up between the
frame and body mount and lower the frame back
down.

2) REMOVE FACTORY HARDWARE AND LIFT BODY
Remove the three bolts holding the body to the
frame. Use a 16mm socket to remove these bolts.

C-Clamp the slider to your body and ensure it rests
flush.




,\\\“

FISHBON Eé(/(““%& INSTALLATION INSTRUCTIONS

OFFROAD PART No.
Fr p FB23115
Jeep® YJ Wrangler
Rock Sliders
Using something to write with, mark the positions 5) INSTALL THE SLIDER
of the bolt holes onto your Jeep’s body that will Replace the slider by following the previous steps

and insert the M10 bolts and secure them with a
washer and nut. Using the included allen and a
17mm socket, tighten each bolt from inside your
Jeep. The front bolt will be accessed from your
engine bay.

need to be drilled away.

Remove the slider.

4) DRILL YOUR JEEP!
Open your door and pull back any carpet under the
door sill. Ensure there is nothing in the way when You may now reinstall your body mount bolts.
you drill into this area from the outside.

6) RINSE AND REPEAT!
Using a hole punch and a 3/8” drill bit, enlarge the Repeat these steps for the opposite side of your
pilot holes for the supplied hardware. Jeep.

7) ENJOY YOUR NEW FISHBONE OFFROAD ROCK
SLIDERS!

Using some silicon or paint, touch up the sheet
metal you just drilled through to prevent rust. We
recommend using a Q-tip for application.

Learn more about running boards and step bars we have.


https://www.carid.com/running-boards.html

